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Peter Rabbit and the Angry Owl – Activity Book Answer Key Level 2

Peter Rabbit and 

the Angry Owl
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Based on the 
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a g x s t a i n s

u l o j y f y u r
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b s k y l i l y e

b e l e r d s s e

i s q u i r r e l

t p a n b o l h i

Page 6 – Activity 5

Reader’s own answers

Model answers

1 What is this?

This is a forest.

2 What are these?

These are glasses.

3 What is this?

This is Peter Rabbit’s house.

4 What are these?

These are berries.

5 What are these?

These are berry stains.

Page 7 – Activity 6

They are animals: squirrel, rabbit

They are in the forest: berry, tree

They are clothes: hat, pants

Page 8 – Activity 7

1 b

2 a

3 b

4 b

5 a

6 a

Audio script

 1 Old Brown tried to catch him.

 2 “I can’t �nd them!” 

 3 “Come back here!” 

 4 “There you are!” 

 5 “I want my glasses!” 

 6 He flew down to his glasses.

Page 2 – Activity 1

1 a

2 b

3 c

4 b

Page 3 – Activity 2

1 Peter Rabbit 

2 Old Brown

3 Lily 

4 Squirrel Nutkin

5 berries

6 berry stains

Page 4 – Activity 3

Page 5 – Activity 4
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1 Squirrel Nutkin

2 Old Brown

3 Peter Rabbit

4 Jeremy Fisher

5 Mrs. Tiggy-Winkle

6 berry stains
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Page 9 – Activity 8

1  b He is a squirrel.

2  c  You cannot wear these.

3  a He can �y.

4  c  She is not a rabbit.

Page 10 – Activity 9

1 Squirrel Nutkin was in the forest.

2 “I took his glasses,” said Nutkin.

3 The friends ran into the forest.

4 Then, Old Brown flew down from the sky.

Page 11 – Activity 10

1 glasses

2 tree

3 forest

4 berry

5 drop

6 stain

Page 12 – Activity 11

1 Peter Rabbit is next to Benjamin.

2 Nutkin is standing on the berry stains.

3 Lily is opposite Nutkin.

4 Mrs. Tiggy-Winkle is behind Benjamin.

Page 13 – Activity 12

Audio script

1 A: Look at the picture. Where was 

Nutkin?

 B: He was in a tree.

2 A: And who was with him?

 B: Old Brown was with him.

3 A: Was Old Brown happy?

 B: No, he wasn’t happy.

4 A: What did Old Brown want?

 B: He wanted his glasses.

5 A: Who had his glasses? 

 B: Peter had them.

6 A: But what did Peter do with the 

glasses?

 B: He dropped them. Oh no!

Page 14 – Activity 13

1 Old Brown

2 Because he took his glasses.

3 Into the forest.

4 Jeremy Fisher

Page 15 – Activity 14

Reader’s own answers

Model answers

1 Who is this? 

 This is Peter Rabbit.

2 Who is this? 

 This is Jeremy Fisher.

3 Who is this? 

 This is Squirrel Nutkin.

4 Who is this? 

 This is Old Brown.

5 Who is this? 

 This is Mrs. Tiggy-Winkle.

7 sky

8 hat

9 pants

10 dress

11 chair

12 door

1 In a tree

2 Old Brown

3 No

4 His glasses

5 Peter

6 He dropped them
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